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| ENGLISH LANGUAGE AND COMPREHENSION /|

1.

Select the correct indirect form of
the given sentence. Aditi said, "I
am not invested in the project
anymore."

(1) Aditi said that she had not
invested in the project
anymore.

(2) Aditi said that she is not
invested in the project
anymore.

(3) Aditi said that she was not
invested in the project
anymore.

(4) Aditi said that she do not
invested in the project
anymore.

In the following question, out of

the given four alternatives,

select the alternative which best
expresses the meaning of the

Idiom /Phrase.

To burn one's finger

(1) To suffer a loss by acting
rashly

(2) To accidentally touch a hot
utensil

(3) A question without any
agreed answer

(4) To have one's finger chopped

Choose the word that means the

same as the given word.

Slick

(1) Novice (2) Fractions

(3) Slippery (4) New

Choose the word that can

substitute the given group of words.

Compulsory enlistment for

military service

(1) Militaristic

(2) Conscription

(3) Armament

(4) Abdication

Choose the sentence with no

spelling error.

(1) Lites flickered in the bussh
behind him.

7.

(2) Lights flicered in the bush 10. Choose the word that means the

behind him.
(3) Lights flikered in the bush
behind him.
(4) Lights flickered in the bush
behind him.
Choose the option that is the
correct passive form of the
sentence.
The culture was losing its
meaning.

(1) The culture lost it's
meaning.

(2) The meaning of the culture
was lost.

(3) The meaning of the culture
was being lost.

(4) The meaning of the culture
will lost.

Rearrange the parts of the

sentence in correct order.

P. fish, or other potential food
item that happen

Q. to be floating by with stinging
cells called nematocysts

R. at night and capture tiny
organisms like zooplankton,
small

S. corals are predators and
they extend their tentacles

(1) RSPQ (2) RPQS

(3) PQRS (4) SRPQ

Fill in the blank with the most

suitable word. Remember that,

little sister: wait for a man to

_____your honour, and you'll wait

forever.

(1) comfort (2) cheer

(3) repeal (4) avenge

Choose the word that can substitute

the given group of words.

A specialist of kidney

(1) Obstetrician

(2) Nephrologist

(3) Pathologist

(4) Primatologist

11.

12.

13.

14.

same as the given word.

Laggard

(1) Prompt

(2) Hustler

(3) Dawdling

(4) Expeditious

Select the most appropriate

meaning of the given idiom.

A shot in the dark.

(1) Shooting in the night

(2) Randomly doing something,
the outcome of which is
unknown

(3) A blind man's cane

(4) Looking at the stars

Improve the underlined part of the

sentence. Choose 'No improvement'

as an answer if the sentence is

grammatically correct.

The Government has been

building more schools to provided

education at the secondary level.

(1) provide education at

(2) provide educationally on

(3) providing education to

(4) No improvement

Improve the underlined part of

the sentence. Choose 'No

improvement' as an answer if

the sentence is grammatically

correct.

She cuts her haired short in the

summer.

(1) hair short

(2) hairy short

(3) No improvement

(4) hair shortest

Select the option that will

improve the underlined part of

the sentence. In case no

improvement is needed, select

'No improvement'.

Herbalism had become an all but

extinct skill in the Western

world.

(1) No improvement
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(2) Herbalism has become but
all an extinct skill

(3) Herbalism become
extinct skill

(4) Herbalism has become but
an extinct skill

Choose the word that means the

same as the given word.

Sacrilege

(1) Blasphemy

(2) Modification

(3) Consecration

(4) Reverence

an

15.

16. Fill in the blank with an
appropriate option. One of his
rules was to always and
await instruction to enter.

(1) knock (2) rub
(3) blink (4) resist

17. Choose the incorrectly spelt word.
(1) Clovver (2) Sharpen
(3) Sunrise (4) Happen

18. Identify the segment in the
sentence which contains a
grammatical error. If there is no
error, then select the option "No
error".

Today, in fit of frenzied rage and
/jealousy, you would have/
killed me, your brother.

(1) killed me, your brother.

(2) No error

(3) jealousy, you would have

(4) Today, in fit of frenzied rage
and

Choose the word that is opposite
in meaning to the given word.
Accessory

(1) Substitute (2) Surplus

(3) Essential (4) Option
Find the part of the given sentence
that has an error in it. If there is
no error, choose 'No error'.

India has tumed 70 years older
as a Republic.

(1) 70 years older

(2) as a Republic

(3) No error

(4) India has turned

(21- 25) In the following passage some
of the words have been deleted. Read
the passage carefully and select the
correct answer for the given blank out
of the four altem atives.

In a new study (1) . in Nature
Human Behaviour, we have now

19.

20.

shown that, in 2021, (2)______

expectancy rebounded somewhat in

most western European countries (3)
_ eastern Europe and the US

witnessed additional losses. However,

only Norway (4) ____ pre-pandemic life

expectancy in 2021, and everywhere

is worse off than it would (5)

have been without the pandemic.

21. Select the most appropriate

option to fill in blank number 1.

(1) published

(2) registered

(3) surrounded

(4) established

Select the most appropriate

option to fill in blank number 2.

(1) game (2) animal

(3) hunger (4) life

Select the most appropriate

option to fill in blank number 3.

(1) while (2) as

(3) so (4) behind

Select the most appropriate

option to fill in blank number 4.

(1) probes (2) lifts

(3) beats (4) clubs

Select the most appropriate

option to fill in blank number 5.

(1) shortly (2) likely

(3) nicely (4) bluntly

I GENERAL INTELLIGENCE & REASONING 1|

1. A series is given with one term
missing. Select the correct
alternative from the given ones
that will complete the series./
,d vu@e sk x;k g ftle ,d in
yir gh fn, x, fodYik e 1 og Igh
fodYi pfu, th Jeyt dk iji djt
ABC, EJN, IRY, ?, QHU
(1) MYJ (2) MZJ
(3) MZK (4) MZL

2. Words given on the left side of
(::) are related with each other
by some Logic/Rule Relation.
Select the missing word/word
pair on the right side of (::) from
the given alternatives based on
the same Logic/Rule/Relation.
Aquarium: Fish:: ?/ () d ck;h v
fn; x; "in wiil e fdlh rdifu;e
IEcl/ Hjk MEcf/r gkr gh lelu
rdifuseilc/ d wi/j ij fn, x,

22.

23.

24.

25.

6.

fodYike 1 (%) d nib vij ylr "iCni*iCn

ke dik pfu,A

,Dofj; el eNyh ¥ \

(1) Hive : Honeybee/NUifh e/eDef

(2) Aeroplane : Hangar /o tgith
0XJ

(3) Wine : Cellar/okbu % lyj

(4) Animals : Zoo/ tiuojh fpfM;k%j

In a certain code language,

'PROTEINS' is coded as

'119127591419', 'REFLECTS' is

coded as '9222115532019. What

is the code for 'SCENARIO' in that

code language?/,d fuf*pr diM Hi'%

€] PROTEINS' dk'119127591419,

d -1 ediVr fd;k x;k g REFLECTS'

dk 9222115532019 d -1 e difMr
X;khml dV Hik e 'SCENARIO!

d fy, dv D;k g\

(1) 8242213118951

(2) 8242213118915

(3) 8242113128915

(4) 8242213119815

How many quadrilaterals are

there in the given figure?/m Xxb

viNfr e fdru prit g\

(1) 11 (2) 12
(3) 14 4) 13

In the following question, select
the odd letter/letters from the

given alternatives. /fuufyfer ¢"u
e fn, x, fodYik e 1 fo'te v{kjiv{ij

dk pfu,A
(1) OSX (2) IMQ
(3) FUN (4) NRV

Select the option that is related
to the sixth number in the same
way as the first number is
related to the second number
and the third number is related
to the fourth number./ml fodYi
di p;udj thNBy Ik T mh Qdkj
Ict/r g tl igyh 1[;k nlj ;e
Ict/r g vij riljh B[k plFn DK T
Ict/r gh
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11:81::22:400::?:225
(1) 11 (2) 13
(3) 17 (4) 15

Select the correct mirror image 11,

of the given combination when
the mirror is placed at line AB

as shown./fn, x, b;ktu dh Igh
ni.k Nfo dk p;u dj tc ni.k dk j=k
AB 1j fnel;k x

ok
KNFJESD |
MANFJISA
@0SIJENN
@XNIL3ed
@aq2aLInnN

Q.8 Select the option figure in which

the given figure is embedded.
(rotation is NOT allowed)/ml fodYi
viNfr di p;u dj ftle nh xb viNfr
Iflufgr gh (JV*u dh vuefr ugh g)

63

(1) (2)\

(3) (4)

%

Q.9 Two positions of a dice are given

10.

below. What can come on the
adjacent faces of the face

containing 'F' on it?/ulp ,d Ikl 12.

dh nk fLAfr;k nh xb gA ml ij 'F' ofy

pgj d villu pgjk 1j D;k vk Idrk g\
) 8and L (2) 7and 9
()9and8 (4) Land 9

If14A13A3=30and39A 14 A
356, then 28 A 11 A4 =?/;fn 14
A13A3=30VIj 39A 14 A 356,

rk28A11A4="7

(1) 57 (2) 40

(3) 63 (4) 43

In the following question below
are given some statements
followed by some conclusions
based on those statements.
Taking the given statements to
be true even if they seem to be at
variance from commonly known
facts. Read all the conclusions and
then decide which of the given
conclusion logically follows the

given statements./UIp fn, X, ¢"u

e dN dFu fn, x, g vij mu dFuk d

wviZlj ij dN fu'd fn, x, gA fn, X,

dFiuk dk IR; efuuk Hy gh o BoKkr

rF;k 1 Hlu crir gir gid THA fu'd'i

dk i< wij fifj r; dj fd fn, X,

fu'dic e 1 diu Ik fu'd rfdd :

I fn, x, dRuk dk vulj.k djrk gA

Statements:

I. All N are Q./IH N, Q gh

II. Some H are Q./dN H, Q g

Conclusion:/fu"d"(

I. Some Q are N./dN Q] N gA

II. Some Q are H./dN Q] H gA

III. Some N are H./dN N] H gA

(1) Only conclusion III follows/
doy fu'd' 1t vulj.k djrk g

(2) Both conclusions I and II
follows /nluk fu"d'k 1 vij ™ vulj.k
djr g

(3) Only conclusion II follows/
doy fu'd't 1 vulj.k djrk g

(4) Both conclusions II and III
follows/nkuk fu'd" 1 wij 111
vulj.k djr g

Select the figure from the given

options that can replace the
question mark (?) in the following

series./fn, x, fodYike I ml viNfr
di p;u dj tk futufyfer Jeyk e ¢"u
foE (\) dk cfrlFifir dj 1drh gh

LT 2 1L
g WY el

13.

14.

15.

o (T« ([T

In the following question, select
the missing number from the
given series. /futufyfer ¢*u e] n
xb Jeyk 1 ylr 1[;k dk p;u djA
2,3,5,7,11,7?

(1) 19 (2) 16

(3) 20 (4) 13

Select the option in which the
numbers shares the same
relationship in set as that
shared by the numbers in the
given set. (NOTE: Operations
should be performed on the whole
numbers, without breaking down
the numbers into its constituent
digits. E.g. 13 - Operations on 13
such as adding /subtracting
multiplying etc. to 13 can be
performed. Breaking down 13
into 1 and 3 and then performing
mathematical operations on 1
and 3 is not allowed)/ml fodYi dk
p;udjftle I[;k, IVeog Ic/ 1>
djr g tif, x, IV e D[z Xt 1k
fol sk tirk b (&5fu rib 1[;ivi ckmudl vdl
vk e foifer fd, feul ik 1LV ij
Ipiyu fd;k tiuk pidg,A mnigj.k d fy, 13
& 13 1j Iphyu €l 13 dk ﬂMu 0 W]
Xl djuk wifn ok fu"ikinr fd 5k & Idrk g
13 ok 1 Vij 3 e riMuk Vij rc 1 Vij 3 ij
xt.hri; 1@k, dju dh vuefr ugh g)
(36, 99, 106)

(72,207, 214)

(1) (64, 193, 200)

(2) (48, 125, 132)

(3) (24, 63, 70)

(4) (52, 157, 164)

Words given on the left side of (:)
are related with each other by
some Logic/Rule Relation.
Select the missing word/word
pair on the right side of (::) from
the given alternatives based on
the same Logic/Rule/Relation./
) d ck;h wij fn; x; "iCn vkl e
fdlh rdifu;e IEcl/ Hjk DECi/r gir
oA lelu rdifu;eflc/ d viZlj ij
fn, x, fodYik e 1 (%) d nib vij
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16.

Reptiles

17.

18.

19.

yir *ini*iCn ;Xe dk pfu,A

Dog: Four :: Parrot: ?/dl % plj
bk %\

(1) Seven/ lir

(2) Four/plj

(3) Two/nk

(4) Six/Ng

How many reptiles are neither
mammals nor amphibians?/

fdru Ijhla u rk LruZkjh g vij u g
mhk; pj g\

14
AN
4

12

e

Amphibians
(1) 14 (2) 13
(3) 12 (4) 91
Arrange the given words in the
sequence in which they occur in
the dictionary./fn, X, ‘iCnk dk
"Iindi’k e Viu oky @e e 0;ofLFr djA
(1) Taken (2) Tactless
(3) Tackle (4) Tactful
H is the sister of I. B is the
mother of H. J is the daughter of
R. I is the sister of J. How is R
related to H?/H, I dh cqu gh B,H
dhekghJ, R dhidh gh1,Jdhcgu
AR, H 1 dI Icf/r g\
(1) Maternal Uncle/ekek

Mammals

)
(2) Son in law/nkekn
(3) Father/firk

(4

) Paternal Grandfather /nink
In the following question, four
number pairs are given. In each
pair the number on left side of (-)
is related to the number of the
right side of (-) with some Logic/
Rule /Relation. Three pairs are
similar on basis of same Logic/

20.

21.

multiplying etc. to 13 can be 22. In the following question, four

performed. Breaking down 13 into
1 and 3 and then performing
mathematical operations on 1

and 3 is not allowed)/futufyfer ¢'u
pij 1[;k ;X fn, X, oA cR;d tiMh

e (&) dclhwvig dh I[;k (&) d nib

vij di I[;k 1 dN rdifu;eflc/ d

I Ict/r @A lelu rdifu;eflc/ d

v/l 1 ru tM lelu @b fn, X,

fodYik e I fo'le dk pfu,A (&;ku ni

I[;kvk dk mud Avd vdk e foHiftr

fd, fcul] i.k I['kv ij Ipkyu fd;k
tuk pifg,A migj.k d fy, 13 & 13 1j

Iptyu €l 13 dk tiMuk § AVkuk § x.K

djuk viin fd;k t Idri gA 13dk 1 vy

3 e riMuk vij fiQj 1 wij 3 1j xf.krh;

11@;k, dju dh vuefr ugh g)

(1) 108 - 1257912

(2) 102 - 1061208

(3) 106-1191016

(4) 104 - 1124864

In a certain code language,
'MANAGE' is coded as 'HJIDQDP'.
What is the code for 'LATTER' in

that code language?/ ,d fuf*pr diM
Hi'k e] MANAGE' dk 'HIDQDP' d
o1 e diiMr fd;k x;k gA mih AV HE'%
e LATTER' d fy, dV D;k gixi\

(1) GTHWWDO  (2) UHVVDO
(3) UHWXDO  (4) UHWWOD
Words given on the left side of

(::) are related with each other
by some Logic/Rule /Relation.
Select the missing word/word
pair on the right side of (::) from
the given alternatives based on
the same Logic/Rule/Relation.

Editor: Newspaper :: ?/ (%) d clb
vij fn, x, ‘iCn viil e fdlIt
rdifu;eilc/ Jjk Icf/r gir gh letu
rdifu;eilc/ d wi/lj ij fn, x,
fodYike 1 (%) d nib vij ylr *ICnf*iCn

23.

number pairs are given. In each
pair the number on left side of (-)
is related to the number of the
right side of (-) with some Logic/
Rule /Relation. Three pairs are
similar on basis of same Logic/
Rule/Relation. Select the odd one
out from the given alternatives.
(NOTE: Operations should be
performed on the whole numbers,
without breaking down the
numbers into its constituent
digits. E.g.13 - Operations on 13
such as adding /subtracting /
multiplying etc. to 13 can be
performed. Breaking down 13 into
1 and 3 and then performing
mathematical operations on 1

and 3 is not allowed) / fuEufyfer ¢*u
pij B[k ;Xe fn, x, gA cR;d tiMh
e (&) dclo vij dn I[;k (&) d nib
wvij dh I[;k I dN rdifu;eflc/ d
I Bcf/r gh lel rdifu;eilc/ d
wiZlj 1j riu tM lelu gA fn, X,
fodYik e 1 fo'le dk pfu,A (&;ku nk
I[; vk dk mud Avd vdk e foHiiftr
fd, feul] i.k D[;kvk 1j @5k, dh
tuh pifg,A mnkgj.k 13 & 13 1j 1@k,
tl 13 e tiMug2Viukix.k djuk vifn
fu"ikinr dh tk Idrh gh 13 dk 1 wij
3 e foHikfer djuk vij fiQj 1 vij 3 1j
xf.krh; @5k, dju dh vuefr ugh g)
(1) 638-2552  (2) 618-2472
(3) 1074-4396  (4) 508-2032

Select the option figure in which
the given figure is embedded.

(rotation is NOT allowed)/ml fodYi
viNfr di p;u dj ftle nh xb viNfr
Iflufgr g (vd ugh)

Rule/Relation. Select the odd one ;fe dk pfu,A
out from the given alternatives. - ]
(NOTE: Operations should be biind § vecl %\ ] (1) 2) ]
performed on the whole numbers, (1) Design: Architect/ fitibuh olLrdj
without breaking down the (2) Food: Chef/Hktu % jIb;¥
numbers into its constituent
digits. E.g. 13 - Operations on 13 (3) Poem Poet/dfort dfO_ 3 _ﬂ; 4 | B
such as adding /subtracting / (4) Farmer Crop/fdliu i{ly (3) (4)
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24. By Interchanging the given two
numbers (Not digits) which of the
following equation will be correct?/
mhxb [ zivk (v di ugh) ok vi
e cnyu 1j futufyf[ir e 1 lendj.k
Igh gixi\
4and 3/ 4 Vij 3
(1) 3x4+2+7=17
(2) 7x4+3+1=30
(3) 4+3x7-2=29
(4) 4x3+7-5=16

25. In the following question, select
the odd word pair from the given
alternatives. /futufyfer ¢'u e fn,
X, fodYike 1 fo'le *itn ;Xe dk pfu,A
(1) New Delhi - India/ub fnYyh &

Hijr
(2) Beijing China/ciftx piu
(3) Dhaka-Bangladesh/<kdl&

chkykn®k

(4) Lahore - Pakistan/Yyigl] &
ilfdLriu

I QUANTITATIVE APTITUDE I

1. The following line graph shows
the favourite colour of a group of
people.

What percent of the total number
of people like black colour?/
fuEufyfer yibu xki) yixk d ,d leg
dk 1Inink jx fnekrk gA

dkyk jx iIn dju oky 0;fU;k db dy
I[;k dk fdruk ¢frir g\

Number of people
on & o ©

Red Green Orange Pink Black Blue White Yellow

(1) 50% (2) 20%
(3) 10% (4) 33.3%

2. In ASTU, X and Y are the points
on sides ST and SU respectively.
XY is parallel to TU. If SX: XT=2:5
and UY = 20 cm, then what is the
value of SU?/ASTU, €] X Vij Y
@e™fh ST vij suU 1{l 1j fcn gh Xy,
TU d lelrj ¢h ;i SX: XT = 2:5 vjj
UY =20 lel] ri su dk elu D;k g\

(1) 24 cm
(3) 32 cm

(2) 28 cm
(4) 26 cm

. The following pie chart reflects

the total percentage of marks of
S boys in an exam. The total
marks for these boys in this the
exam is 800. The marks of Rohit
is how much percentage less
than that of Raju?

fueufyfer il ptv ,d iji{l e 5 yMdk
d vdi d dy cfrr dk n"frk gA bll
iji{lk e bu yMdk d dy vd 800 gh
jiigr d vd jrt 1 fdru ¢friir de g\

Total percentage of marks

(1) 20%
(3) 25%

(2) 30%
(4) 33.33%

. The circumference of base of a

right circular cone is 88 cm. If
the height of the cone is 28 cm,
then what is the curved surface

area of the cone?/ ,d yEconh; td
d Vi/lj di ifjf/88 et g :fn "id dlf
Apib 28 1eh g] rt "id dk o i'Bh;
{i=1dy D;k g\

1) 670/3 cm? (2) 616+/3 cm?

6273 cm? (4) 561+/3 cm?

. Two circles of radius of 6 cm each.

They intersect each other such
that each passes through the
centre of the other. What is the
length of the common chord?

6 len db f47;k oky nk olid 0 ,dénlj
di bl rjg dVr gfd gR;dnljdde
I gidj xtjrk gh mH; fu'B thok dh ycib
fdruh girh g

1) 9.3 cm
3) 6+/3 cm

(2) 12 cm
(4) 8 cm

. A person bought 80 pens at the

rate of Rs. 30 per pen. He sells
40 pens at a loss of 20 percent. If
profit of 20 percent is earned on
the all pens together, then what
will be the profit percentage on
the remaining 40 pens?

,d 030k u 30 #i; ifr iu dhnj 1 80
1u =jhnk og 20 ¢frkr dh gifu 1j 40
1u cpr gA ;fn THA Tuk 1] feykdj 20
cfr*ir di yiH vitr fd;k thri g] rk

"'k 40 1uk 1) yiHk cfrrir fdruk ghxk\

(1) 60 percent (2) 80 percent
(3) 70 percent (4) 90 percent

. Pand Q together can complete a

work in 20 days. If Q alone can
complete the work in 25 days,
then in how many days. P alone
can complete the same work?

P vij Q feydj ,d dk; dk 20 fnuk e
ijkdj Idr g ;fn Q vdyk ml df;
dk 25 fnuk e ijk dj Idrk g rk fdru
fouk e\ P vdyt mlh dk; dk ijk dj

Idri g\
(1) 25 days (2) 100 days
(3) 20 days (4) 50 days

. The line chart given below

shows the sales of bikes and
cars of five companies L, M, N,
Pand Q.

utp sk x;k ylou ptv ikp difu;k L,
M, N, P Vij Q di cibd Vij diji db
fc@h dk n*lkrk gh

Which of the following statement
is correct?

futufyfer e I diu Ik dru 1gh g\

1000

T L T M T N T P T Q 1
Bike —— Car —e—

I. The sales of bikes of company
L and M together is 45.88
percent of the sales of cars of
company P and Q together.

diut L vij M dh feykdj ctod
dh fc@h diun P vij Q di feyidj
fc@h dh 45.88 ¢fr'ir g

II. The total sales of bikes is 77.5

percent of the total sales of
cars.

clbl dh dy fc@h diji dh dy
f2h di 775 i lnh gh
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10.

11.

(1) Both I and I1/nkuk
(2) Only I/0{oy I
(3) Neither I nor II/uk rk T Vij u
oh I

(4) Only I1/0(oy II
Circumference of a circle is 88
cm. Chord XY makes an angle of
90 degree at the circumference

of this circle. What is the length
of XY?

,d olk dh ifjf/ 88 leh gh thok XY
bl olk dh ¥fjf/ ij 90 fMxh ok dk.k
cukrh gA Xy dh ycib fdrun g\

(1) 42 cm (2) 28 cm

(3 14 cm (4) 21 cm
What is the value of the
expression 1-2-3-4-5-6 to 100
terms?/1-2-3-4-5-6 | ydj 100
ink rd d 0;td dk elu D;k g\

(1) -50 (2) -55
(3) 49 (4) -60
What is the value of/dk D

IVij II

heY; g

1.1.1 1. 1.1
Xt X
1°2° 2 2°2°2 5

11 1 1 1 1 1 1 1
—X— =+ -+ X ———+—X—
4 4 2 4 4 2 4 2 2

12.

13.

14.

(1) 8 (2) 2

(3) 4 (4) 1

If angle subtended by a chord on
the major arc of a circle is 55
degree, then what will be the
angle subtended by the same
chord on the centre of the circle?

;in fd b thok Yk olk d ce= phi ij
cuk;kx;k di.k 55 fvxh g rkmBh thok Hjk

olk d dz ij cuk;k x;k di.k D3k gixi\
(1) 125 degree (2) 140 degree
(3) 135 degree (4) 110 degree

20 percent of A's income is equal
to 10 percent of B's income. If A's
income is Rs. 2550, then what
is B's income?

A dh vk; dk 20 ¢frir A dh vk; d
10 ¢frikr d cjicj gh ;fn A dh wi;
2550 #i; g] rk B dh vk; fdrub g\

(1) Rs. 5000 (2) Rs. 7650

(3) Rs. 5100 (4) Rs. 4900

What is the val ¢ tanA-sinA
at is the value o —tanA+sinA :

15.

16

17.

18.

BRSO el Dt gix\
sec A+1
(1)1 (2) sec A-1
sec A-1
(3) sec A+1 (4) sec A

Rohit buys a ball for Rs. 700.
Rohit gives two successive
discount of 20 percent and 40
percent to the customer on this
ball. What will be the selling
price of the ball?/jfgr 700 #i; d
fy, ,d xn ejinrk gh jifgr bl xn ij
xigd dk yxkrij nk clj 20 cfrir vij
40 ¢fr*kr dh NV nrk gA xn dk fod;
eY; D;k ghxi\

(1) Rs. 372 (2) Rs. 336

(3) Rs. 442 (4) Rs. 325
The average age of 120 members
of a society is 62.5 years. By
addition of 30 new members, the
average age becomes 58.2 years.
What is the average age of newly
joined members?/,d left d 120
InL;k dh vkl r vi; 62-5 0% gA 30 u,
InL;k dk €Mu ij vilr vi; 582 o'k g
trh gA u, “fey g, InL;k dh vilr
vi; fdruh g\

(1) 40 years (2) 41 years
(3) 39 years (4) 42 years
Rahul spends some part of his
income and saves the remaining
part. The ratio of his expenditure
and saving is 5: 4. If Rahul's
income is Rs. 36000, then what

will be his expenditure?/ jigy Viul
vienut dk dN fgLlk ep djrk g vij
ckdh cpk yrk gAmld 0;; wij cpr dk
wvuilr 5i4 gA 'fn jigy dh wi; # 36000
gl rkmidk 0;; D;k ghxi\

(1) Rs. 15000 (2) Rs. 25000
(3) Rs.20000  (4) Rs. 16000

5
Ifcos B= 9 then what is the value

of cosec B?
9 9
W 21 @)
4 5
O WiE

19.

20.

21.

22.

23.

24.

A sum of money at simple interest
amounts to Rs.403 in 3 years at
the rate of 10% per annum. What

is the value of the sum?/ l/j.k

C;keaj ,d 'k 3 Tty e 10» ¢fr o'%
dh nj I 403 #1; g thrh gA "k dik
eY; D;k g\

(1) Rs.400 (2) Rs.380
(3) Rs.310 (4) Rs.345

1
If x* + o 47, then what is the
1
value of x® +? ?

1 1
ot + — =471 2 +—5 dk elu
X X

D;k ghxi\
(1) 18 (2) 9

(3) 27 (4) 36

Average weight of 20 persons is
60 kg. A new person joins the
group and average weight of 21
persons becomes 59 kg. What will

be the weight of new person?/20
0;fUk0;k ol vilr Hi 60 foxi gh ,d usk
0;fll) leg e "ifey gk thrk g vij 21
0;fU;k dk wkIr otu 59 fdxk gk trk
gh u, 030k ok Hej fdlruk gixi\
(1) 41 kg (2) 29 kg
(3) 39 kg (4) 40 kg
What is ?(1-sinA)/?(1 + sinA)?/
D;k g\(1-sinA)/?(1 + sinA)?
(1) sec?A (2) secA+tanA
(3) tan?A (4) secA-tanA

1
IfK + E—Q =0 and K > 0, then
; 17 1 o)
what is the value of K +F ?/

1 .
K+ E—2=0Vk_| K>0, rt K7

1 .
+F dk elu D;k g\

(1) 2 (2) 1

(3) 0 4) 12

A car covers a distance of 40 km
in 24 minutes. If its speed is
decreased by 40 km/hr, then
what will be the time taken by
it to cover the same distance?
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25.

,d dij 24 feuV e 40 fdeh dh njh r;
djri gA ;fn bldh xfr dk 40 fdenfAvk
de dj fn;k t,] rk Lew njh r; dju
e bl fdruk le; yxxi\
(1) 48 minutes/feuV
(2) 36 minutes/feuV
(3) 45 minutes/feuV

(4) 40 minutes/feuV
The table given below shows
production of car by two companies

Jand Kin 5years./ulp nh xb rifydk

50 e nk difusk J vij K Hjk di
d mRiknu dk n*lkrh gA
Comapanies

Years| J K

A 120 50

B 80 60

C 40 120

D 30 100

E 20 70

LI = The total production of car

by J in all years /dij dk dy mRiknu
J Yk TH 0%

L2 = The total production of car

by Kin all years /dij dk dy miknu

K Yk T o'%

What is the value of (L2-L1)?/

(L2-L1) dk elu D;k g\

(1) 110 (2) 90

(3) 70 (4) 140

GENERAL AWARENESS |

Which of the following statement
is correct regarding large dams?/

cM ci/k d Ic/ e futufyfer e I diu
Ik dFu Igh g\

I. They have social problems
because they displace large
number of peasants and tribals
without adequate compensation
or rehabilitation.

mud ikl leifed leL;k, g D;kfd

i;lr eviot ;k iuokl d fecuk

cM I1[;k e fdluk vij vifnokfl ;k
dk foLFfir djr g

II. They have Environmental

problems because they

contribute enormously to

deforestation and the loss of
biological diversity.

mud ikl 1;koj.k Dc/h RelL;k, g
D;kfd o ouk dh dVib vij tfod
fofo/rk d udliu e Hkjh ;kxnlu
djr gh

(1) Only I/doy 1

(2) Both I and II/1 Vij II niuk

(3) Only I1/doy 11

(4) Neither Inor II/u K1 Vij u gh I

. Which among the following

companies fired about 300

employees under allegations of 7.

moonlighting in September
2022?/futufyfer e 1 fdl diuh u
flrcj 2022 e pinuh d Vijki e yxHix
300 deptfj;k dk ukdjh 1 fudky ;i\
(1) MindTree/elbMVh

(2) Amazon India/vetu bfM;k
(3) Wipro/fock

(4) Microsoft India/elb@kIkYV bk

. Which of the following two teams

played in the final match of season
8 of PKL?/futufyfer e 1 fdu nk Vhek
uind,y d Ittu 8 d 1{lbuy ep e

ey Fil\
(1) Dabang Delhi vs. Patna
Pirates/ncx Yyt cuke 1Vuk 1iojVl

(2) Bengal Warriors vs. Patna
Pirates/cXky Offj; 1 cule 1Vuk
ibjv 1

(3) Dabang Delhi vs. Bengal
Warriors /ncx fnYyh cule cxty
offj; 1

(4) Dabang Delhi vs. Bengaluru
Bulls/ncx fnYyh cule cxy# cYl

. Which famous male lawn tennis

player retired in September
2022?/flrcj 2022 e fdl C;f|1/4 i1#'%
yiu Viul feyiMh u BU;KD fy;i\

(1) Roger Federer/jktj i(Mjj

(2) Rafael Nadal/jkiJy uMky

(3) Novak Djokovic/ ulokd tkdifop
(4) Carlos Alcaraz/dkykl vydjit

. InIndia, what is the total length

of the coastline of the mainland,
including Andaman and Nicobar
and Lakshadweep?

Hijr e vMetu vij fudkckj vikj y{k}hi
Ifgr e[ ; Hfe d lez rvV dh dy yclb
fdruh g\

10.

(1) 8,514.4km (2) 7,818.7km
(3) 7,516.6 km (4) 8,123.1km
Who is famously known as sitar
maestro in India?/Hijr e flrij
ond d :i e fdl tiuk tirk g\

(1) Maharshi Patanjali/egf irtfy
(2) Pt. Ravi Shankar/Ii- jfo “kd]
(3) Ustad Bismillah khan/mLrin

fcfleYylg =ku
(4) Sitara Devi/fhrjk noh
Which Indian financial institution

protects investors in a stock
market?

diu 1k HiGrh; follh; ILRku *k;j chtdj

e fuoidk dh Tj{i djrt g\

(1) Bombay Stock Exchange/CEC
Lid ,DIpt

(2) Reserve Bank of India/Hijrh;
fito cd

(3) Securities and Exchange
Board of India/Hkjrh; cfrikfr
vij fofue; cim

(4) National Stock Exchange/
u'uy Lid ,Dlpt

Which of the following was the

capital of Pallavas?/futufyfer e

I diu iYyol dh jie/iuh Fit\

(1) Aihole/, gty

(2) Puhar/ 10}

(3) Raichur Doab/ jk;pj nkvic

(4) Kanchipuram/diphije

The Industrial Policy Resolution

of 1956 formed the basis of the

_ /1956 d vk]kixd uhfr IdYi u

_dkwiZlj cuk;k

(1) Fifth Five Year plan/Ikpof
ipo'ih; ;ktuk

(2) Second Five Year plan/nljh
ipo'ih; ;ktuk

(3) Fourth Five Year plan/piFh
ipo'ih; ;ktuk

(4) Third Five Year plan/rljh
1po"h; ;kEuk

Which of the following colloid is

an example of foam?/futufyfer e

I diu Ik dkyibM itke dk mnigj.k g\

(1) Sponge/Lit (2) Butter/eDeu

(3) Cheese/1Uhj (4) Mist/felV

KD PUBLICATION |

SSC CHSL TIER -1 2022

09 MARCH. 2023, 11:45 AM |

D 4

SET-02




11

12.

13.

14.

15.

16.

. Which of the following shortcut

key is used to switch to print
preview in MS-Word 365?/MS-

Word 365 e f¢V f0; e flLop dju d
fy, futu e I fdl “vdv dtn di
C;hx fd;k thrk g\

(1) Ctrl + Alt + P (2) Ctrl+Alt+1
(3) Alt+P (4) Alt +1
Which state among the following
has the largest reserves of gold
ore in India as of 2021? /futufyfer
e 1 fdl jiT; e 2021 rd Hkjr e
d v;Ld dk Icl cMk HMij g\

(1) Jharkhand/>lj=M

(2) Rajasthan/ jitLFu

(3) Bihar/fcglj

(4) Karnataka/dulvd

Which river of India drains into
Bay of Bengal?/Hijr dh diu Ih unh
cxky dh =iMh e fxjrh g\

(1) Mahi/ekgh

(2) Narmada/uenk

(3) Godavari/xinkojh

(4) Tapi/ rkih

What is used for holding program

instructions that can't be changed
throughout the life of the

computer?/¢ixie bLVD*k1 dk giYM dju
d fy, fdldk mi;kx fd;k tirk g el
dl;Vj d thou Hyj ugh cnyk & 1drk g\
(1) ROM/jle

(2) Register/]ftLV]

(3) RAM/jle

(4) Cache/d"k

The famous monument, Aram
Bagh, was built by Babur. It is

located in/¢f1Y4 Leljd] vjle cix] cicj
Hik cuok;k x;k R ;g mle eftn g

(1) Delhi/fYyh

(2) Uttar Pradesh/mlkj ¢n’

(3) Madhya Pradesh/eg; ¢n'

(4) Bihar/fcglj

In which state did PM Narendra

Modi laid the foundation stone for
Bulk Drug Park in October

2022?/VvDVcj 2022 e ih,e uj& el
ufdl jiT; e cYd Mx ikd dh vigkjf*kyk
jei\

(1) Bihar/fcglj

(2) Himachal Pradesh/fgelpy ¢n’
(3) Punjab/1tic

)
)
)
)

17.

18.

19.

20.

(4) Uttarakhand/mlkjkeM

Which of the following comes
under Union List of 7th schedule
of the Indian constitution?/

futufyfer e I du Higr; Ifo/lu dh 7o

wvulph dh 1% Iph d vrxr virk g\

(1) Public Health and sanitation/
liotfud LolLF; wkj LoPNr

(2) Public order/ykd 0; OLFik

(3) Hospitals and dispensaries/
viirty vij vi'W/ly;

(4) Establishment of standards of
weight and measure/ClV Vij
eli d eludk dh LRIk

Who led the Battle of Plassey on
behalf of the British East India

Company?/fchV"k bLV biMzk diuh dh

Vij 1 Iyidh d ;% diurfo fdlu fd 5k R\

(1) Charles Stuart/ptYl LYWV

(2) Warren Hastings/okju gfLVXI

(3) Robert Clive/]jicV Dykho

(4) James Lancaster/tEl ydLVj

Which Indian writer wrote the

famous book "Mansarovar'?/fd |

Hijrt; yed u ¢fl% iLrd "efuljioj*

fy-

(1) Gita Sahgal/xirk 1gxy

(2) Ram Prasad Bismil/jie ¢lin
fcfley

(3) Premchand/¢epn

(4) Yashpal/; "liky

At high doses, kills cancer cells

or slows their growth by damaging

their DNA. Cancer cells whose

DNA is damaged beyond repair

stop dividing or die. When the

damaged cells die, they are
broken down and removed by the

body./mPp ekl e] dlj dif*kdkvk dk
eljrk g ;k mud Mhu, dk udliu
igpkdj mud fodkl dk /hek dj nri
gh dlj dif*kdk, feudk Mh,u, ejter
I ij {kfrxLr gk x;k g o foHkfEr ghuk
cndjnrg kej thrh gA tc {frxLr
dkf'kdk, ej t g] rk o W tirh g
() Mk tirt gA

( ) Chemotherapy/ dhelFjih

(2) Radiation therapy/ fOfdj .k fpfdRlk
(3) Surgery/ Itjh

21.

22.

23.

24.

25.

(4) Physiotherapy/fi{ft;Hjih

Which of the following articles of
the Indian Constitution is related
to the writ of the High Courts?/

Higrh; Ifo/lu di futufyfer e I diu Ik
VUPNN mPp Usk;ky sk dh fjv 1 Icf/r g\

(1) 32 (2) 126
(3) 76 (4) 226
Which of the following rivers

originates in Rajasthan?/

futufyfer e 1 diu Ih unh jrtLRku 1

fudyrh g\

(1) Mahi/ekgh

(2) Narmada/uenk

(3) Tapi/ rkih

(4) Banas/cukl

Which team won the 2021-22

I-League?/2021-22 Vib&yix fdl

Vie u thrh\

(1) Neroca FC/ujkdk , il

(2) Mohammedan SC/ekgEeMu
-1

(3) Gokulam Kerala FC/xkdye
djy , 1l

(4) Rajasthan United/JKtLFkku
; UbVM

Which of the following has
revamped the E-Baal Nidan
online portal in September

20227 /futufyfer e 1 fdlu flrcj
2022 e h&cty funku viuytbu 1kvy dk
usk =1 fnsk g\

(1) UNICEF India/ ;full i) bfM;k

(2) National Commission for
Protection of Child nghts /

jevi; cy viZdij 1jik

(3) NITI Aayog/ulfr wk;kx

(4) Ministry of women and child
development/efgyk ,0 cly fodkl
ety ;

Who is famously known as the

father of Indian nuclear

programme?/Hijrh; ijek.k d;@e

dtud d :i e fdl thuk thrk g\

(1) Homi J. Bhabha/gleh t HiHk

(2) Vikram Sarabhai/fode b

(3) C. V. Raman/ I- of- jeu

(4) Venkatraman Radhakrishnan/
odVjeu ji/iN".lu
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